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CHALLENGE 5

R. P = (w B) s a trigonametric point, what are the coordinates of the rgonometic
pesing il
PE = (el - B 2ab)

£. 1 F(t) = (a, b} is a trigonometric point, what are the coordinates of the following
trigonometric points?

a) P+ w)y bbb b P{#+~:§ by

F. I P(1) = (a, b) is a trigonometric point, determine
b o 4 1
ajy tant _a b} cotawr b €} sect m_ dl wscil b

&. Determine the exact coordinates of the following trigonometric points.
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&. Solve the cquation 2 sinr(x + lp+1=0inR

S=‘? +-.’s?n]E L.I{g- +2n-! -

Fa Given the ﬁmutmzﬂr} ...... 2 cos »~(x + 17+ 1
a) Determine

1. the amplitude of £

3. the domain of £

o]

2. the period of f ________________________________
4. the range o [ ‘V"l"ﬁ_
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by Graph the function fin the Cartesian plane.

< Determine in B
tothezerosof f 0 +6n)ufdvény  ~
2. the sign off flx} = G over [6n, 4 + én]; f(x} O wuer [—I + 6n fjn) 1[4 + 61:! 5+ 6af
3. ithe varigtion {){ff x puer -1 + én, 2 + 6nf; f uaver [2 + én, 5+ 6n]
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3. the variation ch_f_
fo ovef_'__gi_.m]&i};f v aver [14, 17}
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